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Question 2 (2 marks) 
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(1 mark) – correct numerator 

(1 mark) – correct denominator 
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Question 3 (2 marks) 
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Question 4 (2 marks) 
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Question 5 (5 marks) 

 

a.        f (x) = (x + 2) cos(x)  
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The graph of f
−1

 is a reflection of the graph of f in the line y = x . 

The endpoints of f are −
π
2

,0
 

 
 

 

 
  and (0,2) . 

The endpoints of f
−1

 are therefore (2,0) and 
2

,0 






 −
π

. 

 (1 mark) – correct shape 

(1 mark) – correct endpoints 

S

T

A

C
 

x
31

1

2

3

-3

-2

-1

-1-2-3

y

2
π−

)(xfy =

)(
1

xfy
−=

2
,0 







 −
π

(2,0)

 



4 

 

©THE HEFFERNAN GROUP 2015        Maths Methods (CAS) 3 & 4 Trial Exam 1 solutions 

Question 6 (3 marks) 

 

Let )','( yx  be an image point. 
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The image equation is xey 34 −= . 

So a = 4 and b = −3. 
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Question 7 (5 marks) 

 

a. The graphs will intersect when 

 
        f (x) = g(x)  
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Since f and g are each defined for x ∈ [0,9], then x = 3 or 6 . 

Points of intersection are ( ) ( )3,6 and 3,3 . 

   (1 mark) 

 

 

b. Do a quick sketch. 

For the graph of y = f (x), 
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Question 8 (4 marks) 

 

a. Since we have a probability density function, 
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Question 9 (6 marks) 
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Question 10 (6 marks) 

 

a. i.  f (x) = u - x  
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When the gradient of the tangent equals 1− , 
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ii. Method 1 

Since the gradient of the tangent is 1− , and 
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